


1

2

3

3

4

56

1
0

89

7

1
0

1
2

1
2

1
4

1
4

1
3

1
3

1
6

1
6

1
7

1
8

1
9

1
8

2
2

2
0

2
1

2
3

2
6

2
8

2
7

2
4

2
9

1
1

1
5

2
5

P
a

r
t
s
 
C

h
e

c
k
 
L

i
s
t



B*10 C*14

M8*50 M8*35 M8*20

D*32 E*16 F*6

M6*12 M4*10 M6*25

G*4 H*4

J1*3

Allen Key for A / B / C

A*15

Allen Key for D / F

Reminder:

1- This bed is combo product, it should come with 2 packages. You may take few

time to receive both package after order. Thank you for your understanding.

2- Kindly please check the list below and confirm you receive all stuff from the

package. If you find something missing, please contact us as soon as possible and

we think we will find a solution together.

USB adapter
RF Remote

LED Strip

Parts List

2 x11 x1 3 x2 4 x1 5 x1 6 x1

8 x17 x1 9 x1 10 x2 11 x1 12 x2

18 x217 x116 x215 x114 x213 x2

19 x1 20 x1 21 x12 22 x24 23 x4 24 x4

30 x4429 x428 x427 x1626 x425 x4

Long Tapping

Short Tapping

J2*4

Driver for E/G/H/J

I*3



Step 2

B

%[�

Step 1

$[�

ķ

ĸ

A

Ĺ

ĺ



Fx6

F

J1x3

J1

6WHS��

6WHS�3

⑤

⑥

J1



Hx4

H
8

D

10

Dx4

Gx4

H

6tep �

9

6tep �

Tips: Please always

keep the mark towards

to the hole.



Step 7

7

Step 8

/(' StULp

3OeDVe peeO RII tKe ILOP

RI tDpe DQG pDVte tKe

VtULp RQ ľ



9

6teS 9

6teS 10

J2

D

Dx4 J2x4

Align ⑦⑧on⑨ and screw

H until the mark turning

180º.H



Step 12

$[�

Step 11

&[�

⑪

&

⑫

⑬

⑭

⑫

⑬

⑭

A

A



Step 14

Step 13

%[�

B

$[4

⑮

B

A



Step 16

Step 15

&[�

⑯

⑯

⑰
⑱

⑱

&

&[�

&

&



Step 18

$[1

⑲

Step 17

&[�

⑳

&

$



Step 20

Step 19

21

22



Step 22

Drawers Overview

26

23

24

25

28

29

Underplates

27

(PEed    tR tKe rRd and

PaNe sXre it is wrapped

in Rne KRle�

Step 21

30

30

30



Step 23

Step 24

EPEeG   tR tKe URG DQG

PDNe VXUe Lt LV ZUDppeG

LQ ERtK KROe�

E

30



Step 25

Step 26

Please do not tighten all the way-

the screw will act as a hook for the

drawer to the bed.

Put down the black underplate on the drawer.

D

D

D


	1-2
	3-4
	5-6
	7-8
	9-10
	11-12
	13-14
	15-16
	17-18
	19-20
	21-22
	23-24
	25-26
	exp
	part list
	封面

